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Name: __________________________________



1
The solution to [image: image1.png]Bx+4




 is

2
The solution to [image: image2.png]


 is

3
What is the solution to [image: image3.png]2+ 3(2a+ 1) =3{a+2)



?

4
An equation is given below.

[image: image4.png]



The solution to the equation is

5
The value of x that satisfies the equation [image: image5.png]x+10




 is

6
What is the value of x in the equation [image: image6.png]


?

7
What is the value of x in the equation [image: image7.png]


?

8
Which value of x makes [image: image8.png]


 true?

9
Which value of x satisfies the equation [image: image9.png]


?

10
Which value of x satisfies the equation [image: image10.png]


?

11
The solution to [image: image11.png]% G-



 is

12
The value of x which makes [image: image12.png]


 true is

13
What is the solution to the equation [image: image13.png][+

],1n4



?

14
Which of the equations below have the same solution?

I.
[image: image14.png]10(x-5)=-15




II.
[image: image15.png]4+ 2(x-2)=19




III.
[image: image16.png]




15
Solve the equation algebraically for x:  [image: image17.png]~2.4(x+ 1.4) = 6.8x - 22.68





16
Solve the equation below algebraically for the exact value of x.

[image: image18.png]




17
Solve algebraically for x:



[image: image19.png]2 2
S G194 32





1
ANS:


[image: image20.png]-28




[image: image21.png]3x—24+4x=8x+4
Tx-24=8x+4
-2





REF:
062106ai

2
ANS:


2

[image: image22.png]-2+ 8x=3x+8

5x=10





REF:
081804ai

3
ANS:


[image: image23.png]



[image: image24.png]2+ 3(2a+ 1) =3a+2)

2+6a+3=3a+6
Ja+5=6
Ja=1

a-




REF:
012307ai

4
ANS:


8.3

[image: image25.png]Ax-T) =03+ 2+ 211
4x-28=037+06+211
37x-28=271
37x=3071
x=83




REF:
061719ai

5
ANS:


10

[image: image26.png]



REF:
081904ai

6
ANS:


3.5

[image: image27.png]10x-20=15
10x=135
5





REF:
082304ai

7
ANS:


4

[image: image28.png]



REF:
081420ai

8
ANS:


6

[image: image29.png]



REF:
012005ai

9
ANS:


8.25

[image: image30.png]



REF:
061405ai

10
ANS:


[image: image31.png]-18.825




[image: image32.png]15-40x = 768
~40x=753

x=-18.825





REF:
081713ai

11
ANS:


[image: image33.png]



[image: image34.png]



REF:
012416ai

12
ANS:


[image: image35.png]-11.3




[image: image36.png]3(16x-12)
48x-36
18x

1.3





REF:
011822ai

13
ANS:


0.4

[image: image37.png]



REF:
011905ai

14
ANS:


II and III, only

[image: image38.png]10(x-5)=-15
10550 =15
10x=35

1
)



  [image: image39.png]


  [image: image40.png]



REF:
082217ai

15
ANS:


[image: image41.png]~24(x+1.4) = 6.8x- 2268
~24x-13.36= 6,87~ 22.68
19.32=9.2x
21=1




REF:
062325ai

16
ANS:


[image: image42.png]18- 2(x+5) = 12x
18-2x-10=12x
8= 14x

8 _4
-7





REF:
061830ai

17
ANS:


[image: image43.png]2z 2__.5
—12[ E(x+1z)+§x:—zx+zJ

8(x+12)-8x= 15%- 24
8x+96-8x= 157-24
120=15¢

8





REF:
061925ai
